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BEFE 202 (56 5BIR)

TE Bk [ 72 8 PE A AR U2 T 2 3fi

I H IR
[#%]
S BT IR IE | 127,955 | kn
(m%]
AR AL R 1,515 km
THHAR » 7 ARIER 8,274 km
(%]
ZEFERAE 1 B4 7=V DREZI) 48,151 | keal/
=)
ZEEI 162472 0 ORES2) 19,261 | keal/
L
2N 1 B4 0 OB HEEN) 18.54 kVA
2SI 1 B X472 0 OEREQ) 5.6 kVA
2 PR i B A1) 3.43 m?
72 PR AR B A (2) 0.67 m?
[#%]
et B AR E AR (L) 0. 8342 —
o HAfRE S AR (FARIR) 0. 6847 —
ot B S AR G TFIR) 0.7212 —
o HRE A AR (EIRR) 1. 0470 —
M FI R SR TEAR SR (BRI IR 0. 6377 —
b ELATRE SAH IEAR S (LU IR) 0. 7560 —
b BT R A IEAR S (R IR 0. 8189 —
B BT R ST IEAR . (ROR) 0.7221 —
- B A AR R (R IR 0. 7403 —
M H R S IE AR A (RERS IR 0.7476 —
B A AR (B EIR) 0.8891 —
T HB BT ST EAR . (FEIR) 0.9070 —
A R S A TR AR A (RURTRT) 1.0748 —
T HE BT R ST IEAR B (BRI IR) 0.9338 —
| B A IE ARG CRTEIR) 0.7711 —
T HE B S EAR . (B 1R 0.8334 —
- BT R A IE AR S ()1 R 0. 8043 —
b B R S IEAR B (R IR 0.7214 —

=
MFEFE20D2 (556 £BR) CAIZ]

H B [ ¥

(FZA]
X AR 129, 850 | km

[FI£]
AR AL FTRIE R 1,500 km
TEWA > 7 ARIE R 8,196 km

[[RIZE]
ZER 1 B4 OfeSl) 30,000 | kcal/
=
ZEH 1 B%7- 0 OFREN(2) 13,050 | keal/
=)
2SR 11.55 kVA
2SR 1 B2 OF 5.4 kVA
7 3R 3% Gt BN T A (1) 5 m?
22 AR G BT T R (2) 2.2 m?

[FI%]
-l B R SR IE AR S (AbvEE) 0.8118 —
i B R SR IR AR S (BFARE) 0. 6872 —
Tt B R SR IEAR S CH TR 0. 7229 —
i B R SR IR AR S (bR 1. 0045 —
-l B R SR IE AR S (B E IR 0. 6433 —
B ELTRE S A IEAR S (LLFEIR) 0. 7564 —
b BT S A IE GRS (R 5 1R) 0. 8155 —
b BB S AR (FRERIR) 0. 7253 —
- Hb B R S AR IEAR S (MG ACIRL) 0. 7454 —
b B SRR (RERS IR 0. 7507 —
- Hb B S IEAR S (B EIR) 0.8782 —
b B R SRR (LR 0. 8955 —
A R A TR AR CROURR) 1.0310 —
T HE BTN AT IE AR ()1 ) 0. 9257 —
- Hb B R S AR IEAR S G IR 0. 7758 —
b B R S IEAR L (B LR 0.8342 —
- Hb B R S IEAR S ()T IR 0. 7906 —
b B B A IEAR L (R FEIR) 0. 7282 —
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M B S IEAR B (TLALR) 0.7611 — b B R SR IEAR B (LLBLIR) 0. 7658 —
b BT RRE SA IEAR S (REFIR) 0. 7663 — b B A IEAR S (REFIR) 0. 7678 —
M B S IEAR B (I R IR) 0.8136 — T HEEL R ST IEAR B (i R IR) 0.8188 —
b B A AR (I U2 0. 8427 — b B A IR AR (R LR 0. 8466 —
M B ST IEAR B (B R) 1. 0098 — b AR SR B AR (B ) 0.9915 —
- BT A IEAR L (SR 0. 7952 — b BT A IEAR S (SR 0. 7999 —
T HE B R S IEAR S (R R) 0.8724 — b AR AR B AR S (REEU) 0.8752 —
b B A IEAR . CrUERAT) 0. 9646 — b B R S IEAR R (RUHRIT) 0.9401 —
b B AR A A IEAR . (RBRURT) 0. 9368 — b B R S IR AR (ORBRT) 0.9180 —
B R S IE AR S (JRiEIR) 0. 8905 — BB S IE GRS (JREIR) 0. 8858 —
- B A IEAR S (KRR 0.8481 — B SRR S (REIR) 0. 8495 —
b B R SR IE AR B Rk L1 ) 0. 7002 — b BT A IE AR S CRfi L ) 0. 7079 —
b B A IEAR . (R EUR) 0. 6865 — b B S IR AR (R EUR) 0. 6908 —
B R S IEAR S (FARIR) 0. 7422 — B S IEAR AL (AR IR) 0. 7474 —
b B AR A AR (1L R 0.8316 — b B R S IR AR (] L R 0. 8289 —
MBS IEAR S (R IR) 0.8552 — BB S IEAR B (RS 1R) 0. 8386 —
B BT S EAR . (I a R 0. 7234 — b B SRR (L 1) 0. 7227 —
T ELATRE SA IEAR S (PSR 0. 6469 — T ELATR S A IE GRS (B 1R) 0. 6482 —
b B A IEAR S (FJNIR) 0.7072 — b AR S R AR (IR 0.7070 —
b BLATRE S AT IEAR S (AR IR) 0. 7625 — T ELRE S A IEAR S (AR IR) 0. 7680 —
b BT R A IEAR S (R IR) 0.6171 — b BT S A IEAR S (R IR) 0. 6201 —
b B AR A IEAR R (R IR 0. 9642 — b B R S IEAR A (R 1 VR 0.9237 —
b BT R A IEAR S (IR 0. 7365 — b BT S IE GRS (B IR) 0. 7307 —
ot B S AR (BIRIR) 0.7914 — b B S IEAR L (R IR 0. 7879 —
b BT R S AR IEAR S (REARIR) 0. 8777 — b BT S A IE GRS (REARIR) 0.8617 —
b B A IEAR . (RO IR) 0. 8025 — b B R S IEAR S (R4 IR) 0.7932 —
b BT R A IEAR S (ETIRIR) 0.8018 — b BTN S A IE AR (IR IR) 0. 8046 —
- BT R S IR AR (R RS ) 0. 7152 — T BTN AT IE AR (R R ) 0.7215 —
b BT R A IEAR S (PPRIR) 1.2187 — b BT S A IE GRS (PRRIR) 1.0980 —
BRI (AL xHEEHLE 0. 001481 — RN (OB g 0. 001525 —
Btk OMAFZTHRE)  cHEEEEI R 0. 05500 — Btk OMAFZZHRE) xR gEk R 0. 05391 —
LR Rk b))  eHeE AR 0. 07619 — BEARAR0E (PR Hug) SRR R 0. 07473 —
EEUERAE (TIAMRER)  xHRE R 0. 03454 — BERARAE (ORI xR 0. 03329 —
Btk (HPAREE) xR gt 0.01132 — Btk il (IPAREK) xR gEthg 0.01110 —
BEUAR AR (R Rh) PR AR 0. 1075 — BERAR0R (M)  sr e E LR 0. 1250 —
B SHEEREL R 0. 01003 — LMY AR 0. 008870 —
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il

LB M kR 0. 006876 —
(m%]
LY BRI 0. 06682 —
BEb L OVERE kPR 0. 0006599 —
Ul P EE AL 0. 0001194 —
TH, #EROHan SR 0. 004942 —
WIEEEEE Ry 7 v =7) RHBEEEREE 0. 01572 —
MPEEEE (COMOMIEEEE) xHEERLE 0. 004290 —
KFEA4D3 (FF6EBKR) BHAEEICHOHKE
H H ¥ B
TN 2 % P A e et B AR LR (TR %D) -62.000 7 = -
P

TN AZHARE sk O B R R (— AR ED 0.04771 —
TN ZZHRE NN AN [BIRRY 7= 0 Sk R 2 549 | M./ [al##
TN 2 AR AT T I B s e (ki) 234, 662, 632 2]
TN A BRI BRI R 2 (FRE) 221, 281, 433 M
TN AZHAREERTE T A a2 CH TR 229, 152, 726 A
TN ZZHARE ARG I I ER Oy (TR 240, 172, 537 M
TN AZHAREERTE T A s k2 (R IR 226, 004, 209 A
TN ZZHARE ARG N R R oty (LB IR 232, 301, 244 M
TN AZHAREERTE T A s R 2 (RS IR 236, 236, 890 A
TN ZZWARE ARG I I a Ok e (R 241, 746, 796 M
TN AZHAREERTE T A a2 (AR IR 239, 385, 408 A
TN ZZHARE ARG N I a Ok ey (BERS IR 236, 236, 890 M
TN AZHAREERTE T R s k(B E IR 252, 766, 606 A
T A WA R R Ay (F2ER) 254, 340, 865 M
TN A HARE AT A R B R R AaEy (CHAUHD) 270, 870, 581 M
A AZWAREERTE T B s 2y (PR IR 255, 127, 994 !
TN ZZHARE AR TE I I e Ok e (BTl IR 236, 236, 890 M
TN AZHAREERTE T A s 2 (& 1L IR 244, 895, 313 A
TN ZZHARE AR E I R e Ok e ()1 IR 245, 682, 442 M
TN AZWAREERTE T A s 2y (BRI 225, 217, 080 A
TN A WA A R BIE R R Ay (LLIFLIR) 251, 192, 348 M
TN AZHAREERTERT A s Ay (REFIR) 240, 172, 537 A
A A BT B By (I BRI 240, 172, 537 M
T ASHAREATAE T SR % Ry (Bl B) 249, 618, 089 M

5

I

L T kAR R 0. 006472 —
4]
WLy kBB R 0. 06702 —
BEM K OVEE kB EELL R 0. 0006748 —
I P RE LR 0. 0001092 —
TH, #E KOS xHEE R 0. 005053 —
HPEEEE (Y 7 b =7)  RERE 0. 01531 —
P EEEE (COMOMEEEE) xHEEHHLE 0. 004524 —
IFEA D3 (556 &BIR) (A% ]

IH H ¥ AL

DIANFE A kit s O A e o BB AR (kiR %0 -48.000 7 = o
PN

DN AZ kit o O A e o BB AR (— R %) 0. 04707 —
TN MBI [BI8R Y 72 0 sk 566 | 1,/ [5I##
TN ZZHAREERTE T R f e k2 (ki) 248, 357, 688 M
TN ZZ A HTE T R sk 22 (FARIE) 234, 020, 437 K|
TN AR ERTE T A f a2 CE TR 242, 454, 114 1
NNNFE A HAEH BT R AR PR 22 CETIRIR) 253, 417, 894 M
TN A HAREERTE AT A 5 e (K IR 239, 080, 643 1
NINNFE A HAEH BT R AR R 22y (LI IR) 245, 827, 585 M
TN ZSHAREERTE T A i B R e (RS 1Y) 250, 044, 423 !
NNNE A HAEHS BT R AR PR 22y (KIRIR) 257, 634, 732 M
TN AZHAREERTE T A h B e (AR IR 255,104, 629 1
NN ASHAEE BT R AR R 22y (FERS IR 251, 731, 158 M
TN AZHAREERTE T WA f B e (B E IR 269, 441, 880 ]
I ZZHAREERE I I h e Ok e (T2 271,128, 615 M
I ZZHAREER TG I I h e Ok e (BURUED) 288, 839, 337 M
MG A HAREERTE T WA B kA (P11 IR 271, 971, 983 ]
TN ZZHAREERTE I I h e Ok e CBTiR IR 250, 044, 423 M
TN 2RI T BRI M o 2 (B LI 259, 321, 468 M
TN ZZHAREER TG I I f e Ok e ()1 ) 260, 164, 835 M
MG AZHAREERTE T WA i B 2 (R R 234, 020, 437 At}
TN ZZHAREERTE I I h e Ok e (UL 267, 755, 145 M
MG AZHAREERTE T WA B e (REFIR) 255, 947, 997 At}
TN HARE R TE T R B i s O e (e R R 250, 887, 791 M
TN 2 MR AT T I A R Ay (et Uk 261, 008, 203 M
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TN ASHAREATAE T Rk Ry (B i) 240, 959, 666 M
IMAE AT HAREHRTE T IR R s 2 (ZEIR) 241, 746, 796 !
TN ASHAREATAE T R % Ry B 234, 662, 632 M
IMAFE AT HAREHRTE T IR BI G s O = (CRUBlT) 230, 726, 985 !
TN ASHAREATAE T R Ry ORI 237,811, 149 M
IMAE AT HAREERTE T R R s O 2 (FRREIR) 228, 365, 597 M
IMAEAZ AR TE T A a2 (FREIR) 234, 662, 632 ]
TN A HAREER TE T R R e k4 (kL IR 235, 449, 761 M
TG A HAREHRTE T R B s O 2 (B EUR) 218, 920, 045 A
TN A BRI BRI Ry (SRR 218, 920, 045 M
TG AZ HAREHRTE T R B s O 4 (e 1L 1) 223, 642, 821 8
TN AZHARE AR E N i ER Ok 2ty (RIS IR 228, 365, 597 M
TN ZZHAREERE T A a 2 (L m IR 225, 217, 080 2]
TN AZHARE ARG N I E Okt (TS IR 225, 217, 080 M
TN 2 MR AT I I B e ()11 228, 365, 597 A
TN A BRI BRI Ry (BRI 221, 281, 433 M
TN AZHAREERTE R R AI E A (AR 221, 281, 433 A
TN ZZHARE ARG N I E Ok e (Rl 1) 235, 449, 761 M
TN AZHAREER TE T R a ke (IR 232, 301, 244 A
I ZZHAREERE N IR Oty (RIFFIR) 225, 217, 080 M
TN ZZHARE ARG I I a4y (REARIR) 222, 855, 692 M
TN AZHAREERTE R R a2 (Ko IR 224, 429, 950 A
TN ZZHARE ARG N I R Ok e CEIRF IR 220, 494, 304 M
TN A HAREERTE T R A s Aty (B VL 5 IR 225, 217, 080 22
TN ZZWARE ARG I I R Oy (PRI 205, 538, 847 M
FP AT BB R (R A T P AL R 0. 03705 —
6 TG B AR R A o P R b R 0. 02624 —
AZNV—TNVGER 1 km 72 0 figk frag (biE) 126,123 | 4, km
A BNV —T WGER 1 km B 72 0 fisk th et (HHRE) 119,007 | F,/km
A BN —T VIER 1 knm 272 0 fiR IR (EFIR) 123,193 | 4, km
ABNVG—T WGER 1 km 272 0 figk fr et (CeriilR) 129,054 | F,/km
A BN —T NVIER 1 km 27- 0 iR 1R (FKAR) 121,518 | 4,/ km
A BN —T VIER 1 kn 272 0 iR 1R (LJER) 124,867 | M,/ km
A BNV —T WGER 1 km B 72 0 fisk th et (@) 126,960 | F,km
A BN —T VIER 1 km 27- 0 MR IR (RR) 129,891 | M, km
A BN —TNRER 1 km Y72 0 FiRAEEE (AR 128,635 | M km

TN 2 ARSI E R RI M a fr 2 (BJn ) 251, 731, 158 3]
IMAFE A HAREERTE T R B h s 2 (SR 252, 574, 526 |
TN 2 MRS AT E R RI M a fr  (REE ) 244, 140, 849 ]
TN A HARE R TE T R I hE s O 2 (CRUBRT) 239, 924, 011 |
MG A HAREERTE T S A B O (ORI 246, 670, 952 ]
IMAFE A HAREERTE T R B h s O 2 (iR IR 237, 393, 908 ]
TN 2SR E T R R 2 (RE) 244, 140, 849 ]
TN ZZHAREER TE T RIS e Ok 4 (Rl IR 244, 984, 217 !
TN ZZHAREERTE T R a2 (BEUR) 224, 743, 392 |
TN NSRBI ax P 2 (AR 223, 900, 024 M
TN ZZHAREERTE AT R h e O 4 (I 1L IR 234, 020, 437 M
NN A NSRBI R AR PR 2 (AR5 UR) 233, 177, 069 M
TN ZZHAREERTE AT R f e 2 (L m IR 233,177, 069 M
TN NSRBI b ax P e (IR 237, 393, 908 M
TN ZZHAREERTE T R RIf a k(B 240, 767, 378 8
TN NSRBI b ax P e (BRI 233, 177, 069 M
TN AZHAREERTE AT A h a2 (R 233,177, 069 ¥
NN A HAEES BT R AR ph 22 (@ JR) 2417, 514, 320 M
TN AZHAREERTE T WA f B Pt e (IR 244, 140, 849 1
NN S HAEES BT R AR R 22 (RIRIR) 236, 550, 540 M
NN A HAEH BT R AR R 22y (REARIR) 234, 020, 437 M
TN AZHAREERTE T A h B R 2 (R4 1) 235,707, 172 ¥
NNNFE A HAEHS BT R AR PR 22 CEIRIR) 232, 333, 701 M
TN AZHAREERTE T A s kA (RS IR 236, 550, 540 1
NNNE A HAEHS BT R AR PR 2 (PR IR) 218, 839, 818 M
PR A SR Sl 55 PR A e o P AR L R 0.04013 —
{25 08 [ il O A 2 o B e b R 0. 02930

AL —TOAER 1 km Y72 9 sk e (biEE) 139,375 | M, km
A BN —TIIER 1 km ¥ 7= 0 iR ety GERIE) 131,421 | M,/ km
A BN =T NFER 1 km 472 0 Mk R e CEFR) 136,100 | 4, km
A BN —TIIER 1 km 2 7= 0 MR ety (i) 142,182 | M,/ km
AZN—TNVIER 1 km %72 0 fEgk frag (BKHR) 134,228 | M, km
A BN —TNFER 1 km 472 0 MRk R2% (ILRER) 137,971 | F,km
A BN =T NVIER 1 kn Y 7=V RS (BB 140,310 | ./ km
ABN—TNVIER 1 km 72 0 Rk A2 (RR) 144,521 | M, km
ABN—TNWVIER 1 km B7- 0 sk fr et (iR 143,117 | [, km

HH



A BNV —T NVAER 1 km Y72 0 fisk et (BEH I 126,960 | F1,/km
A BNV —TNWIER 1 km H7- 0 fisk fh a2t (BER) 135,752 | F,/km
ANV —T NVAER 1 km Y72 0 fisk et (THER) 136,589 | M1,/ km
A BNV —T NWHER 1 km 272 0 fisk fh g (BER) 145,380 | F4,/km
A BNV —TNVIER 1 km 272 0 fagk Rty (FZR)11R) 137,007 | F9/km
A BNV —T NWIER 1 km H72 0 fisk th 2t (BriglR) 126,960 | F,km
A BNV —T NVAER 1 km Y72 0 Mgk e (FILE) 131,565 | M1,/ km
AL NI —TNVAER 1 km 472 0 fisk e ()15 131,984 | M, km
A BNV —TNWIER 1 km H7- 0 fisk 2 (fEHIR) 121,100 | F4,/km
ABNVT—T VIR 1 km Y4720 fiskfr et (LFLR) 134,914 | M km
A BN —TVRER 1 km Y72 0 FisR {2 (BB 129,054 | M,/ km
A BNV —T WGER 1 km B 72 0 figk PRt (i RR) 129,054 | F,/km
ANV —TNVIER 1 km 472 0 fisk Rt (FRi ) 134,077 | M,/ km
A BNV —T WGER 1 km 72 0 fisk Pty (ZHE) 129,472 | ./ km
A BN —TVRER 1 km Y72 0 fisR {2 (ZFEIR) 129,891 | M,/ km
A BNV —T )WGER 1 km B 72 0 fisk Rty (EE) 126,123 | F,/km
AL NI —TNVAER 1 km 472 0 sk fre®  (RUET) 124,030 | 4, km
A BNV —T )WGER 1 km 272 0 fisk PR ORBUM) 127,798 | F1,/km
AL NI —TNVAER 1 km Y472 0 sk fre (LR 122,774 | M,/ km
A BNV —T )WGER 1 km %72 0 fisk Rt (RER) 126,123 | F1,/km
ARV —TNWIER 1 km 272 0 fEgk ety (Roakil =) 126,542 | F1,/km
AL NI —TNVAER 1 km 472 0 sk fre® (BER) 117,751 | M,/ km
A BNV —T )WGER 1 km 272 0 Mgk PRt (GiRE) 117,751 | F,/km
AL NI —TNVAER 1 km Y472 0 sk iR (L) 120,263 | M, km
A BNV —T )WGER 1 km 272 0 figk P2t (RER) 122,774 | F,/km
AL NI —TNVAER 1 km 472 0 sk iR (L) 121,100 | M,/ km
A BNV —T WGER 1 km 72 0 figk fh et (flR) 121,100 | F,/km
A BNV —TNVIER 1 km H7- 0 figR A2 (F)IR) 122,774 | 4,/ km
A BNV —T WGER 1 km 272 0 fisk fh et (Z4RR) 119,007 | F,/km
ABZ NV —TNWGER 1 km 272 0 figR A2 (mslR) 119,007 | F,/km
ABNV—T WGER 1 km 272 0 figk fh 2t (fE ) 126,542 | F,/km
A BNV —TNVIER 1 km 272 0 figR Rty (R R) 124,867 | F,/km
A BNV —TNVIER 1 km 72 0 figR A2 (R R) 121,100 | F4,/km
A BNV —T WGER 1 km 72 0 figk fh 2t (REARR) 119,844 | F,/km
ANV —TNVIER 1 km 72 0 figR A2 (Ko R) 120,681 | F,/km
A BNV —TWIER 1 km B7- 0 sk R (kIR 118,588 | F,/km

AL N — T NVIER: 1 km Y72 0 Mgk it (BESR) 141,246 | [, km
AL NI —TNVRER 1 km 472 0 ik e (BER) 151,071 | F1/km
AL N —T NVIER: 1 km Y72 0 Mgk it (THER) 152,006 | [, km
A BN —TNWIER 1 km 272 0 SEsk PR (D) 161,831 | ., km
AL N =T VIER 1 km Y72 0 gk R (FE)IR) 152,474 | [, km
A BN —TIVIER 1 km 2472 0 fasd e 2t GHrig ) 140,310 | M, km
AL N —T NVIER: 1 km Y72 0 Mgk i e (& 1LR) 145,457 | 4,/ km
AL NI —TNVAER 1 km 4720 sk e (615 145,924 | M, km
A BN —TNVIER 1 km H7- 0 fEsk fr 2t (FEHIR) 131,421 | M, km
AL N —T NVIER: 1 km Y72 0 Mgkt (LALR) 150,135 | M, km
A BN —TNVIER 1 km $7- 0 fisk fr2t (REIR) 143,585 | M, km
AB NI —TVFER 1 km 272 0 flidk et (I RIR) 140,778 | ./ km
A BN —TNVIER 1 km 272 0 REsR PRt (R IR) 146,392 | M, km
AL N —T NVIER: 1 km Y72 0 Mgkt (ZmiR) 141,246 | M, km
A BN —TNVIER 1 km $7- 0 figk fret (ZER) 141,714 | M, km
AL N —T NVIER: 1 km Y72 0 Mgk i et (AR 137,035 | M, km
ALV —TNAER 1 km 472 9 sk e (RO 134,696 | M, km
A BN —T WIER 1 km 272 0 Mgk et (ORBUM) 138,439 | M, km
ALV —TNAER 1 km 4720 sk fre (ER) 133,293 | M, km
ABZ N —T )IER 1 km B72 0 fisk h 2t (RERR) 137,035 | M, km
AH VA —T NAER 1 km 272 0 gk Rt (Fnafkil i) 137,503 | M, km
ALV —TNAER 1 km 4720 sk fre® (BHUIR) 126,275 | M, km
AZ N —T NIER 1 km B 72 0 Mgk fr et (BIRE) 125,807 | M, km
ALV —TNAER 1 km 472 0 sk R (L) 131,421 | M, km
ABNT—T VIR 1 km Y72V [k fhetr (A5R) 130,954 | M. km
ALV —TNAER 1 km Y472 9 fEsk R (L n ) 130,954 | 4, km
ABNG—T WIER 1 km 272 0 fisk fr et (fiR) 133,293 | M, km
AFN—TNVIER 1 km %72 0 fEgk fR2E (F)IR) 135,164 | M, km
ABNG—T WIER 1 km 272 0 fisk fr ety (Z4RIR) 130,954 | M, km
AZN—TNWIER 1 km 272 0 fEgR A2 (RHR) 130,954 | M, km
ARV —T WIER 1 km %72 0 fisk fh et (FEIR) 138,907 | M, km
ABNG—TNVIER 1 km 72 0 fEgk frag (B R) 137,035 | M, km
AEN—TNVIER 1 km $7- 0 fEgR R 2 (RR) 132,825 | M, km
ABN—T WIER 1 km 272 0 fisk fh et (REARR) 131,421 | M, km
A BN —TNVIER 1 km %72 0 Rk A2 (KO R) 132,357 | M, km
ABN—TNWVIER 1 km B7- 0 sk fr e (kIR 130,486 | M, km

<



A BNV —TNVIER 1 km 272 0 figk ety (FEVTE IR 121,100 | M4 km
A BNV —T NWIER 1 km 272 0 fisk fr g (MPHRIR) 110,634 | F,km
A BN —T NI EIRRS T2 0 Mg fr 4t 151 | F1./[5l#%
MARN A — T NVAER 1 km Y72 0 Mgk ihet GbimE) 27,033 | M. km
MAFRNr — T IVIER 1 km 4720 fagk e (HAR) 25,508 | M, km
MARIE T — T WVIER 1 km H7-2 0 fiskfhed (5TR) 26,405 | M, km
IMAFRIGr — 7 VIER 1 km %472 0 SiaR a8 (EIRI) 27,661 | M. km
IMASRIEr — T VIER 1 km H7- 0 fisk fhed (BKHIR) 26,046 | M, km
IMASRIEr — 7 VIER 1 km 4720 fisk fh2® (LR 26,764 | M, km
MMAFRIGr — 7 VIER 1 km %472 0 i et (R 27,212 | M, km
IMASRIEr — 7 VIER: 1 km H72 0 fisk R 2® (KR 27,840 | M, km
MMAFRIEr — 7 VIER 1 km %472 0 Sii et (AR) 27,571 | M, km
AR — T VAR 1 km Y472 0 Rk fhet (BB 27,212 | M,/ km
MMAFRIGr — 7 VIER 1 km %472 0 Sii ety (85 ER) 29,097 | M, km
MARN A — T VAR 1 km Y472 0 Mgk fhet (TIER) 29,276 | M, km
IMAFRIGr — 7 VIER 1 km %472 0 Sii ety GRTHER) 31,160 | M, km
MMARNr — T VIER: 1 km Y72 0 fagk s (R)1R) 29,366 | M, km
MARIE T —T NER 1 km %720 iRt (Bris ) 27,212 | M,/ km
AR — T VR 1 km Y472 0 S fRe® (F1LE) 28,199 | M km
MARIE T —T NER 1 km %720 ik fr et Ca)llR) 28,289 | M,/ km
MARIE T —T NER 1 km %720 iRt (EHIR) 25,956 | [, km
AR — T VAR 1 km Y472 0 S fhe® (LELER) 28,917 | M km
MARIE T — T NER 1 km %720 ik fr et (REFR) 27,661 | [,/ km
AR — T NEER 1 km Y472 0 R fRes (BRI 27,661 | M km
MARIE T —T NER 1 km %720 fap frar (FrhE ) 28,738 | M,/ km
MMARIEr — 7 VIER 1 km 2472 0 Sisk e 28 (i) 27,751 | M,/ km
IMASRIEr — 7 WVIER: 1 km %720 sk fref (ZER) 27,840 | M,/ km
MAENAr — T NEEE 1 km Y72 0 R et (R 27,033 | M, km
IAFRIEAr — 7 VLR 1 kn 24 7= 0 s ety U 26,584 | M. km
IMAFRIEr — 7 VHER 1 km %472 0 fiigk it 2% (RBUT) 27,392 | M km
IMASRIEr — T VIER: 1 km 4720 fisk fref (R 26,315 | 1,/ km
AR — T VR 1 km Y72 0 iR Rat (REE) 27,033 | M. km
IMASRIE — 7 )VIER: 1 km 24 7= 0 Jsk fra® (Rl &) 27,123 | M,/ km
IAFRIEAr — 7 VLR 1 kn 7= 0 Sia ety (BEUR) 25,238 | M, km
AR — T NEEE 1 km Y72 0 R et (RRE) 25,238 | M, km
AR — T NER 1 km Y720 ek e g (L& 25,777 | M.,/ km

ALV —TNAER 1 km 24720 Mgk et (FEILE ) 132,825 | M, km
A BN —TNVIER 1 kn Y 7= R AT (MREIR) 123,000 | F,km
A BNV —T VI AFE B M 7= 0 figk i f 172 | 1/ [EI#
IMAFRIEr — 7 VHER 1 km 3472 0 fisk e 28 (bin) 28,030 | [, km
AR — T VIER: 1 km %4729 fisR fred (HRE) 26,430 | M km
IMAFRIEr — 7 VIER 1 km 472 0 fisk e 28 (HFIR) 27,371 | 9,/ km
AT — 7 VIER 1 km 2472 0 iR a8 (2RI 28,594 | [, km
ARG — T VIER 1 km 2472 0 fisk e 28 (BKHIR) 26,995 | M, km
IMAFRIEr — T VIER 1 km 472 0 fisk e 28 (LIER) 27,747 | M,/ km
DA — 7 NVIER 1km Y72 0 iz 2T (5 28,218 | [, km
IMAFRIEr — T VIER 1 km 472 0 fisR e 28 (KIRIR) 29,065 | M km
DA — 7 NVIER 1 km Y72 0 fisR k28 (HiARK) 28,782 | [, km
IMARIEr — T VIER 1 km 472 0 fisk e 28 (BB 28,406 | [, km
DA — 7 NVIER 1 km Y72 0 iz a8 (FFER) 30,382 | [, km
IMARIEr — T VIER 1 km 472 0 fisk e 28 (TIER) 30,570 | 1, km
DA — 7 NVIER 1 km Y72 0 fiz# a8 G 32,546 | [, km
IMAFRIEr — T VIER 1 km 720 Mgk R 28 (Hh4)1R) 30,664 | [, km
DA — 7 VIR 1 km Y72 0 fisR 2 GIrisi) 28,218 | [,/ km
IMARIEAr — 7 NERE 1 kn M7= 0 FEAR2s (5 1LI) 29,253 | M km
DA — 7 VIR 1 km Y72 0 iz 2 IR 29,347 | M,/ km
DA — 7 NVIER 1 km Y72 0 iz k2 (EHER) 26,430 | [, km
IMARIEr — 7 VR 1 kn M7= 0 fERAR2s (L) 30,194 | M km
MARN T — T NAER 1 km Y4720 fagkfr a2 (EFFR) 28,876 | M, km
MARIEr — T VR 1 km M7= 0 AR (5 RI) 28,312 | M km
DA — 7 NVIER 1 km Y72 0 fisR R E (F ) 29,441 | 9,/ km
MMARIEr —F VR 1 km M7= 0 fRAR2s (BHmIL) 28,406 | [, km
IMARr — T NVAER 1 km Y72 0 ik Re (ZER) 28,500 | [, km
IMARIAr —T NIAEE 1 km Y472 0 MR R (AR 27,559 | M km
AT — 7 VLR 1 kn 7= 0 SRRty G 27,089 | M km
IMARIAr —T NIAEE 1 km Y472 0 KRR OB 27,841 | M, km
IMARIr — T NVAER 1 km Y72 0 Mgk iRat (FLRER) 26,807 | 1, km
AR — T VIER 1 km 2472 0 i e a8 (BRI 27,559 | M/ km
IMAFRIEr — 7 VIER 1 km 4720 Mgk e (Fngkils) 27,653 | M km
IMARIr — T NVAER 1 km Y72 0 Mgk et (SR 25,395 | [, km
IMAFRIEr — 7 VIER 1 km 472 0 Mgk fh 28 (BIRIE) 25,301 | [, km
ARG — 7 NEE 1 kn 7= 0 fEsRieat (105 26,430 | 1, km

P



MARNr — T NVAER 1 km Y72 0 fizR a2 (LB5) 26,315 | M9,/ km
AR — 7 IVIER 1 km 2472 0 fask i (LA 25,956 | 4, km
MARNr — T VAER 1 km Y72 0 flisd k2 (ESE) 25,956 | M9,/ km
MARN A — T NVAER 1 km 472 0 Mg Re GEIIR) 26,315 | M km
MARr — T NVAER 1 km Y72 0 fisR 2R (B 25,508 | M, km
AR — 7 IVHER 1 km %472 0 Risk e 28 (Fnl) 25,508 | M, km
MARNr — T VAER 1 km Y72 0 figR (R 27,123 | M, km
MARN A — T VAR 1 km Y72 0 Rk fhet ((EBEE) 26,764 | M km
AR — T VAR 1 km Y472 0 Mk het (RIFR) 25,956 | M, km
AT — 7 VIER 1 km %472 0 Sii ety (BEAIR) 25,687 | M, km
AR — T VAR 1 km Y472 0 R R et (R4 25,866 | M km
MMAFRIGr — 7 VIER 1 km %472 0 Sii e gy (Eimi) 25,418 | M km
MARNr — T NVAER 1 km 2472 0 fagk e (BIREER) 25,956 | M km
MMAFRIGr — 7 VIER 1 km 472 0 Sia e gy (i) 23,713 | M. km
MRS — T WAIAEEIREY 7= 0 fisk R 42 151 | M /[8l##
Pk RE A — T VIER 1 km 2472 0 SR ee ety (b)) 97,747 | M. km
PHERE A — T VIER 1 km 472 0 MRt (AR 92,191 | M, km
Pk RIE A — T VIER 1 kn %72 0 iR AR CHFIR) 95,459 | M. km
PHERE A — T VIR 1 km Y472 0 R R (ERIR) 100,034 | M km
kR E A — T VIER 1 km 272 0 R AR ARAT (FKIHIR) 94,152 | M.,/ km
Pk RIE A — T VIER 1 km %72 0 SRR AR (LRIR) 96,766 | M. km
PHERE A — T VIER 1 km 472 0 iR (REE) 98,400 | M km
FHERE T — T VIER 1 km Y72 0 Mg R 2T (IR 100,687 | F1,/km
PHERE A — T VIER 1 km Y472 0 MR (AR 99,707 | M, km
Pk RIEr — T VIER 1 km %472 0 SRRty (B IR 98,400 | M. km
FHER A — 7 VIER 1 km 472 0 RIS (B ER) 105,262 | M km
PR — T VIER 1 km 2472 0 fEakfr ety (FIER) 105,916 | F,km
PHERE A — T VIR 1 km 472 0 R R G 112,778 | M km
kRN — T VIER 1 km S 72 0 fEgk Rt (FAR)I1IR) 106,243 | F,/km
PHERE A — T VIR 1 km 472 0 iR (B E) 98,400 | M, km
PR — T VIER 1 km 2472 0 fEakfr et (&R 101,995 | F,/km
PHERE A — T VIR 1 km 472 0 R CFE) 102,321 | M km
PHERE A — T VIR 1 km Y72 0 iR 2 (R 93,825 | M, km
FRERYE T — T VIER 1 km 2472 0 fEak ety (ILELR) 104,609 | F,km
PHERE A — T VIR 1 km Y72 0 iR 2 (REFE) 100,034 | M, km
kR — T OVIER 1 km 2472 0 ke et (R IR 100,034 | F,km

AT — 7 VIER 1 km %472 0 SR a2t (LBIR) 26,336 | M, km
IMATRIEAr — 7 NVAER 1 kn M7= 0 SRRt (LK) 26,336 | M, km
MR —T NIER 1 km H72 0 fask et ((EER) 26,807 | M. km
IMAFRIEr — 7 VIER 1 km 3472 0 fisk e 28 (FIR) 27,183 | M,/ km
AT — 7 VIER 1 km 2472 0 SR e (B 26,336 | M, km
IMAFRIEr — 7 VHER 1 km 472 0 fisk e 28 (Fani) 26,336 | [, km
AT — 7 VIER 1 km 2472 0 SR a8 (REE) 27,936 | M, km
IMARIAr — T NVAER 1 km 472 0 Mgk et (EBEE) 27,559 | M, km
IMARIEr — T VIER 1 km 472 0 fisk e 28 (RIR) 26,712 | 19,/ km
DA — 7 NVIER 1 km Y72 0 fizR {28 (REAIRL) 26,430 | [, km
IMARIEr — T VIER 1 km 472 0 fisk e 28 (R ) 26,618 | [, km
DA — 7 NVIER 1km Y72 0 iz 28 (IR 26,242 | [, km
MARHr —T NVAER 1 km 272 0 fask ek (BIRER) 26,712 | M, km
DA — 7 NVIER 1 km Y72 0 fisR 2 (PR 24,737 | 11,/ km
IMAFRIEA — 7 VN BIRY 7= 0 fi gk (2t 172 | M./ [BI#Y
kR IE S — T VSRR 1 km 272 0 SRR A2 (EifEE) 104,246 | M, km
kR — 7 VEER 1 km 2472 0 SR (FHRR) 98,250 | Fkm
kR — TR 1 km 472 0 fERR A2 CETR) 101,777 | M, km
KRN — 7 VIER: 1 km 2472 0 fidRRe 2 (EIRE) 106,362 | M, km
kR — T SRR 1 km 272 0 fERR AT (BRHR) 100,366 | M, km
kR — T IER 1 km 572 0 SRR (LER) 103,188 | M, km
PR — 7 VIER 1 km 2472 0 fidR 2 (@ SR) 104,951 | ., km
kR — T ER 1 km 272 0 fERR AR (RIR) 108,125 | M, km
KRN — 7 VIER: 1 km 2472 0 fidR 2 WEARR) 107,067 | ., km
HRkR I — TR 1 km 2572 0 SRR A2 (BEEIR) 105,656 | M, km
KRN — 7 VIER 1 km 2472 0 figRReE (BER) 113,063 | M, km
kR — T SRR 1 km 472 0 fis 2t (THER) 113,769 | M, km
kR — 7 VEER 1 km 272 0 Mgk Rt GRRHD) 121,175 | M, km
HikRIE T — T WIER 1 km 72 0 figk 2ty (FR)IR) 114,121 | M, km
FRER G — T VIER 1 km 272 0 [ 22 GBriBi) 104,951 | M, km
kR — TR 1 km 2472 0 fEsk 2t (8 1LR) 108,831 | M, km
FRER G — T VIER 1 km 272 0 S22 (5)115) 109,183 | M, km
kR — 7 VEER 1 km 272 0 figk R GBI 98,250 | M, km
kR — TR 1 km 472 0 fEs 22 (LALR) 112,358 | M, km
R — T VIER 1 km 2472 0 [ 2t (EI) 107,420 | 4, km
kR — T VIER 1 km 2472 0 fEak e g (B IR 105,304 | M, km




FHERE 7 — 7 VIR 1 km Y72 0 Mg (IR 103,955 | M4, km
FHERE 7 — T VIR 1 km Y72 0 MR (AR 100, 361 | 19, km
FRERE 7 — 7 OVIER 1 km Y72 0 gk 2R (ZER) 100,687 | M. km
FHEREr — T VIR 1 km Y72 0 MR (EE) 97,747 | M km
PHERL 7 — 7 VIR 1 km Y72 0 figR 2R R 96,113 | M km
FHEREr — T VIR 1 km Y72 0 fisR R ORI 99,054 | M km
PHERE 7 — T OVIER 1 km Y72 0 g2 (JLEER) 95,132 | M, km
PHERE A — T VIER 1 km Y72 0 MR (KRR 97,747 | M km
kR — T VHER 1 km 2472 0 fiak e (FndkiLii) 98,073 | M, km
FHERE 7 — 7 VIER 1 km Y7 0 Mg 2R (BEUR) 91,211 | M./ km
PHERE A — T VIER 1 km 472 0 R R (BRI 91,211 | M km
FRERE 7 — T VIER 1 km Y7 0 Mg (LR 93,172 | M./ km
PHERE A — T VIR 1 km 472 0 MR URER) 95,132 | M km
FRERE 7 — 7 VIR 1 km Y72 0 Mg 2R (L AR 93,825 | M, km
PHERE A — T VIER 1 km Y72 0 MR e (EER) 93,825 | M km
FHERE 7 — 7 VIR 1 km Y7 0 Mg 2R B 95,132 | M, km
FHER A — 7 VIER 1 km 472 0 iR IR (BRI 92,191 | M km
PR — T VIER 1 km Y72 0 s R (EAER) 92,191 | M, km
FHERE A — 7 VIER 1 km 472 0 iR (BRI 98,073 | M km
PR — T VIER 1 km Y72 0 s 2T (ERIR) 96,766 | M, km
FHERE 7 — T VIER 1 km Y72 0 Mg R 2T (RIFIR) 93,825 | M, km
PHERE A — T VIR 1 km Y472 0 MRt (REARIR) 92,845 | M, km
Pk RIEr — T VIER 1 km 272 0 AR AR (R IR) 93,498 | [, km
PHERE A — T VIER 1 km Y472 0 R R 2R (BRI 91,865 | M km
kR — T OVHER 1 km %72 0 MRk R 2R (FEVE S IR) 93,825 | M, km
PHERE A — T VIER 1 km Y472 0 R R (rhfR) 85,656 | M km
WHE Y — 7 VIER: 1 km 2472 0 Mgk R4 (AbiE) 277,012 | M km
WESEr — 7 VIER 1 km 720 sk 2% (HHRE) 260,998 | M, km
WHE S — 7 VIER: 1 km B7- 0 fagk R e CAFIR) 270,418 | M km
W — 7 NVIER 1 km Y72 0 Mgk R (FIRIR) 283,605 | M, km
WHE N — 7 VIER: 1 km 472 0 fagk R (BKHIR) 266, 650 | M, km
W — 7 NVIER 1 km Y72 0 Mgk R (LRR) 274,186 | M, km
W — 7 NVIER 1 km Y72 0 gk R (@ER) 278,896 | M, km
WHE S — 7 VIER: 1 km S72 0 faak R (RIRIR) 285,489 | M, km
W — 7 VIER 1 km Y72 0 Mgk R (HiAR) 282,664 | M, km
WHE Y — T VIER: 1 km S 72 0 fEsk R (SR 278,896 | M, km

kR IEr — T VIER 1 km 272 0 SEER A2 (B ) 109,536 | M, km
kR IE 7 — T VIER 1 km S 72 0 S a2t (i) 105,656 | M, km
HRkRIE S — T VIER 1 km 272 0 figR A2t (ZHEE) 106, 009 | 4, km
kR — 7 VIER: 1 km 3472 0 Mg iR e g (RER) 102,482 | M, km
kR IE S — T VIER 1 km 272 0 fEsR A2 (RUERIF) 100,719 | F, km
kR — 7 VIER: 1 km 2472 0 Mg reE CRBOM) 103,540 | 3, km
kR — 7 VEER 1 km 272 0 SRt (SRR 99,661 | M km
PR — 7 VIER 1 km 2472 0 figk {2 (BREF) 102,482 | M, km
kR — T VIER 1 km 272 0 fisk a2t (FuaklR) 102,835 | M, km
kR — 7 VIER: 1 km %72 0 Mgt e (SHUR) 94,370 | M km
kR — 7 VAR 1 km 272 0 Mgk R (BRI 94,017 | M km
R — 7 VIER: 1 km 372 0 fia e e g (1L IR) 98,250 | M km
kR — 7 VEER 1 km 272 0 Mgk R (LER) 97,897 | M km
R — 7 VIER: 1 km %72 0 Mg e e (LA R) 97,897 | M, km
kR — 7 VEER 1 km 272 0 Mgk R (FEE ) 99,661 | FH km
kR IE T — T VSRR 1 km 2472 0 SRR IR (F)IR) 101,071 | F/km
kRS — 7 VEER 1 km 2472 0 SR (EER) 97,897 | M km
kRN — 7 VIER 1 km 472 0 MR R (B 5R) 97,897 | 11, km
kR — 7 VEER 1 km 272 0 Mgk R GERIR) 103,893 | M. km
kR — T SRR 1 km 572 0 SRR (ERIR) 102,482 | M, km
R — 7 VIER: 1 km 372 0 g R 25 (RIFE) 99,308 | M km
kR — 7 VEER 1 km 2472 0 SR (EARIR) 98,250 | Fkm
R — 7 VIER: 1 km 372 0 g Rt (R R) 98,955 | M km
FRERSE 7 — 7 VAER 1 km Y72 0 faik e (IR IR) 97,544 | M,/ km
kR — 7 VEER 1 km 272 0 Mgkt (B R) 99,308 | M km
kRS — 7 VEER 1 km 2472 0 SR (hiBIR) 91,901 | M km
WS — 7 WVIER 1 km 272 0 flisk fr2f (eifEn) 280,961 | M, km
By — 7 VIER 1 km Y72 0 gk ke (FHRE) 264,514 | M,/ kn
WEN 7 — 7 VIEER 1 km Y72 0 gkt et CHTIR) 274,189 | M km
B — 7 VIER 1 km Y72 0 gk te (EHRIR) 286, 766 | M. km
WY — 7 WVIER 1 km 272 0 fligk fr22 (FKHIR) 270,319 | M, km
WY — 7 WVIER 1 km 272 0 fisR fr2g (LER) 278,059 | M, km
By — 7 VIER 1 km Y72 0 gk ket (HER) 282,896 | M. km
WS — 7 WVIER 1 km 272 0 fisk fr2te (KUR) 291,604 | M, km
VRIS — 7 VLR 1 km 2472 SEa (Rt (AL 288,701 | 1./ km
WY — 7 VIER 1 km 272 0 flist fr 2 (BEE IR 284,831 | M, km

R



W — 7 NVIER 1 km Y72 0 Mgk fh e (BFER) 298,677 | M, km
WHE Y — 7 VIER: 1 km M 72 0 fagk R e (FIHER) 300,561 | M km
B — 7 VIER: 1 km Y72 0 gk R e (FURH) 320,342 | M km
W — 7 NVAER 1 km 472 0 fiak e (&R 301,503 | M km
W — 7 NVIER 1 km Y72 0 Mgk R (BaR) 278,896 | M km
WHE Y — 7 VIER: 1 km 472 0 fagk R e (&1L 289, 257 | M km
MR — 7 VIER: 1 km Y72 0 gk R e CRIIR) 290,199 | M km
WHE Y — 7 VIER: 1 km 472 0 fEgk R e (FHIR) 265, 708 | M km
RIS — 7 VIER 1 km 472 0 iRk R 2 (LUELR) 296,793 | M km
W — 7 VAR 1 km 472 0 fisk (et (BRI 283,605 | M, km
RIS — 7 VIER 1 km 472 0 iRk R 28 (R IR) 283,605 | Fkm
W — 7 NVAER 1 km 472 0 fisk et (B i) 294,909 | M km
R — 7 NVAER 1 km 472 0 fisk e (B 284,547 | M,/ km
W — 7 VAR 1 km 472 0 fisk et (ZER) 285,489 | M, km
MR — 7 NVAER 1 km 472 0 fiskres (B 277,012 | M km
W — 7 VAR 1 km Y472 0 fisk e (RUEA) 272,302 | M km
W7 — 7 VIR 1 km Y72 0 gk frage (ORI 280,780 | M km
RIS 77— 7 VIER 1 km Y72 0 sk R 2 (JeR) 269,476 | M km
W — 7 VIER: 1 km 472 0 figk ke (BRR) 277,012 | M km
RS — 7 VIER: 1 km 2472 0 faak et (Fnkilig) 277,954 | M, km
W — 7 NVAER 1 km 472 0 fisk et (SEUR) 258,172 | M km
W7 — 7 VIER 1 km Y72 0 gk iRt (BRI 258,172 | M km
W — 7 VAR R 1 km 472 0 fisk fraet (W10 IR) 263,824 | M, km
W7 — 7 VIER 1 km Y72 0 gk iRt (LR 269,476 | M, km
W — 7 VAR R 1 km 472 0 fisk Rt (L) 265, 708 | M, km
W7 — 7 VIR 1 km Y72 0 gk iR et (EER) 265, 708 | M, km
WHE S — 7 VIER: 1 km B7- 0 fagk R (F)I1R) 269,476 | M, km
WSS — 7 NWVIER 1 km 272 0 fisR Rt (BRR) 260,998 | M, km
WHE S — 7 VIER: 1 km 472 0 fask R (EkniR) 260,998 | M, km
MBI — 7 VIER: 1 km Y72 0 gk fr ety (@6 IR) 277,954 | M km
WHE N — 7 VIER: 1 km S7- 0 fagk Rt (B IR) 274,186 | M km
WIS — 7 VIER 1 km 272 0 fisR A2 (RIRR) 265,708 | M, km
WSS — 7 VIER 1 km 272 0 fisk Rt (RBARR) 262,882 | M, km
WHE S — 7 VIER: 1 km S7- 0 fagk R (K50 IR) 264,766 | M, km
HWIEEr — 7 VIER: 1 km 2472 0 sk R 28 (iR I) 260,056 | [, km
WS — 7 WVAER 1 km 72 V) fiak (et (BRI IR 265, 708 | M, km

WSS — 7 VIER 1 km 4720 Miak 28 (B ER) 305,149 | [, km
WY — 7 VIER 1 km 272 0 fisk fr 2 (FIER) 307,084 | M, km
W — 7 VIER: 1 km Y72 0 Mgk e GREH) 327,401 | M, km
W — 7 NVIER 1 km 472 0 fiskfhe R 308,051 | M, km
WSS — 7 VIER 1 km 4720 sk 2% CHriBR) 282,896 | M,/ km
WG — 7 VIER: 1 km 2472 0 fisd e 22 (BLR) 293,539 | M, km
WSS — 7 VIER 1 km 24720 sk 28 ()11R) 294,506 | [, km
WY — 7 VIER 1 km 272 0 fisk (R 22 (FEHIR) 264,514 | M, km
WY — 7 VIER 1 km 272 0 fiisk frag (LLFLR) 303,214 | M, km
WEN 7 — 7 NVIEER: 1 km Y72 0 figk et (RER) 289,669 | M, km
WY — 7 VIER 1 km 272 0 fisk (R 2g (R IR) 283,864 | M, km
WEN 7y — 7 NVIER: 1 km Y72 0 Mgttty (5 IR) 295,474 | M, km
WY — 7 VIER 1 km 272 0 fisk (Rt (BHR) 284,831 | M, km
WEN 7 — 7 NVIER: 1 km Y72 0 figk et (ZHR) 285,799 | M, km
By — 7 VIER 1 km 472 0 gkt et (ER) 276,124 | M km
Wy — 7 VIER: 1 km Y72 0 Mgkt GUAbT) 271,287 | M, km
B 7 — 7 VIER 1 km Y72 0 gk iRt (RIT) 279,026 | M./ km
WEN 7 — 7 NVIEER 1 km Y72 0 figk ety (R 268,384 | M, km
By — 7 VIER 1 km 472 0 gk ket (KRR 276,124 | M, kn
WS — 7 NVIER 1 km 272 0 fEsk ey CRnskiLR) 277,091 | M, km
WBEN 7 — 7 NVIEER: 1 km Y72 0 gkt (SHUR) 253,872 | M, km
B — 7 VIER 1 km Y72 0 gk iRt (BRI 252,904 | M, km
WEEN 7 — 7 NVIEER: 1 km Y72 0 Mgkt aete (10 0R) 264,514 | M, km
B 7 — 7 VIER 1 km Y72 0 gk ke (RER) 263,547 | M, km
W — 7 NVIEER: 1 km Y72 0 gkttt (L0 263,547 | M, km
By — 7 VIER 1 km Y72 0 gk ket (SR 268,384 | M, km
WS — 7 WVIER 1 km 272 0 fisk fr2t (F)IR) 272,254 | M, km
W — 7 VIER 1 km Y72 0 Mgk Rt (ZhRR) 263,547 | M, km
WS — 7 WVIER 1 km 272 0 fisk 22 (RER) 263,547 | M, km
WEIEN 7 — 7 VIER: 1 km Y72 0 Mgk R age (& IR) 279,994 | M, km
WS — 7 WVIER 1 km 272 0 figk fr2te (EER) 276,124 | M, km
W — 7 VIER: 1 km Y72 0 Mgk Rt (RIRR) 267,417 | M, km
WG — 7 VIER 1 km 272 0 [k 2t (FeAIR) 264,514 | M, km
WEN 7 — 7 VIEER 1 km Y72 0 gkt et (KoK 266, 449 | M km
WY — 7 VIER 1 km 272 0 fEsR A2 (CEimiR) 262,579 | M, km
WEN 7 — 7 VIER 1 km Y72 0 fisk ket (B E IR 267,417 | M, km

i



W — 7 NVIER: 1 km Y72 0 Mgk R g (phEiiR) 242,159 | M km
FRIER 1 km 272 V) fidk 2% 53,301 | M, km
PORE KR ER 1 kn Y47 0 a2 53,301 | M km
EHEEE 1km 270 Y fak g 53,301 | M, km
EEEER 1 kn Y720 izt 53,301 | M km
BB ARE IR R 1 kn 2472 0 fa sk 22 53,301 | M km
EARILENEIER 1 km 4 7= 0 FEaR R4 53,301 | M km
B Ak (2 o R B R bR 0. 03999 —
AT HRRRS B R R PR A R R LR 0. 03999 —
T o S o it A R 4 B R B AR L R 0. 01606 —
BRI (A B faak P i G AL 0.1592 —
BERERAE OMAE R Hu) sk (2 f ot e g Aab s (TRER | =62.000 7 =

%) Ak B
BRI AN OMAE R Hu) sk fh 2%t g Aab s (— )RR

) 0.04771 —
BEOLRRAN (PR AcHakE) Faak P gt g gt R 0. 03705 —
BEARRRAN (TTIOMRIE) TIAMRISIER 1 km Y472 0 Jask R 25 3,828 | M km
BEaRdn (TTPAREE) THNFRIKIER 1 km 272 0 sk R 28 1,168 | Fkm
BEOLRRAN (R MERRAR) sk PR e e A e 0. 02624 —
S W i 5 PR A e o B A LR 0. 01606 —
(R

L i PR A e o e AR LR 0. 03804 —
TH | 2R RCOM fhbte % PR 2 kT BB AR b 0. 002741 —
(%]

A LAY - 0 EE S AR 313 | MK
B 1 km Y72 0 GEEE AR 33,192 | M, km
PO 1 km X472 0 AR S R 333,037 | M km
L 9IE 1 km 72 0 EE S AR 738,114 | M, km
AR > 7 A 1km Y72 0 B 5 Ak 3,885 | M1 km
BIRME RS 1 km 7= 0 B 5 AR 3,885 | M, km
AR FTE 1 km 2472 0 6 5 Ak 3,885 | M1 km
T HOR IR A E 1 A7 0 E S AR 65 | M,/ &
(%]

HEA R (i i 25 2 T e e R bR 0. 003127 —
TSR IR D5 2% o P A L R 0. 005530 —
TN I B A xHE A A 0. 002433 —

W — 7 NVIER: 1 km Y72 0 Mgk (pfiiR) 247,099 | M, km
FRIER 1 km 272 0 fiak e 22 54,778 | M,/ km
POREKER 1kn 470 MiRE2E 54,778 | 14,/ km
L HEAEE 1km %720 ik fr et 54,778 | M,/ km
HFENEER 1 km 4720 fiikfr 2 54,778 | M/ km
HIBAREIRIER 1 kn 272 0 Fask iR 2 54,778 | M,/ km
TR AL FEIE R 1 kn 24 7= 0 fEsR(E 2L 54,778 | 1,/ km
A R PR A R A AL 0. 04400 —
AR RS B R AR PR A kR R SR 0. 04400 —
T o T W it A O A e R B AR L R 0. 01668 —
RN (RAEH) Mk DB G 0. 1511 —
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IMASRIEr — 7 VIER: 1 km Y472 0 fisk R e2E CHrislR) 28,218 | 11,/ km
MARIEr — 7 VHER 1 km 2472 0 Rigk 22 (8 LIR) 29,253 | 1, km
MAFRIS —T VIER 1 km Y720 fiig %é%(ﬁm%) 29,347 | 1,/ km
MRS — T VHER 1 km 2472 0 Rigk e 28 (@HIR) 26,430 | 1, km
MAFRIS —T VIER 1 km Y720 fiig 1‘%@% (AL 30,194 | M, km
MMAENAr — T NVAER 1 km Y472 0 ik fRe (REFER) 28,876 | M, km
MIAFRIEr — 7 VFER 1 km 2472 0 Rig a2 (IR 28,312 | [,/ km
AR — T NVIER: 1 km 24720 R ety (R IR) 29,441 | M/ km
MARIAr — T AVIEE 1 km 47- 0 Mg Rat (k) 28,406 | M, km
IMASRIE T — 7 VIER 1 km 4720 sk R ed (@) 28,500 | M, km
MARIEAr — T AVIEE 1 km Y57- 0 Mg Rt (BEUR) 27,559 | M,/km
AR — 7 NVAER 1 km 25 7- 0 Hid Rt GUET) 27,089 | M,/ km
AR — T NVIER: 1 km 24720 R4t ORBRFT) 27,841 | ./ km
MARIAr — T VIEE 1 km 47- 0 g et (LER) 26,807 | M, km
IMASRIE T — 7 VIER 1 km $ 720 Jisk R eE (BRIR) 27,559 | M, km
MAFRI —TVIER 1 km Y72 0 faskfraefe (Fnmkil i) 27,653 | M, km
AR — T NVIER: 1 km 4720 Rt (BHUR) 25,395 | M. km
IMASRIEr — T VIER: 1 km %720 fisk R eE (BIRIR) 25,301 | 1, km
IMASRIE — 7 VIEER: 1 km 272 0 Jskfra® (W LIR) 26,430 | M, km
MMAFRH T — 7»@51m%k@%ﬂ 2% (JRER) 26,336 | M, km
MMARN S — 7 NVAER 1 km Y72 0 figk et (L) 26,336 | M km
IMASRIEr — T VIER: 1 km 4720 fisk R eE (FEEIR) 26,807 | 1, km
AR — T VIER 1 km 4729 fisk e (&)IR) 27,183 | M./ km
ARSI — 7 WAL 1 km 2472 Jitid %é%(ﬁk@) 26,336 | M, km
IMASRIEr — T VIER: 1 km %720 Jisk R e2E (FER) 26,336 | M, km
MA%%&~7wﬁﬁlm%twmﬂ%é§(mﬂ#) 27,936 | M, km
MASRIEr — T VIER 1 km 4720 figkfr g (EEIR) 27,559 | 1,/ km

-
~



AR — 7 VIER 1 km 472 0 ik ip et (BIRER) 25,956 | 1. km
MARN A — T NVAER 1 km Y72 0 Mgk het (REAR) 25,687 | M, km
IR — T WVAER 1 km Y72 0 R R (KoR) 25,866 | M,/ km
MARN A — T NVAER 1 km Y472 0 fis R (R 25,418 | M km
IMAZNA — 7 VIER 1 km 24720 fi# %L%(EE%%) 25,956 | 1. km
IMAFRIEr — 7»@E1métwm i%(%ﬁﬁ) 23,713 | M/ km
ARG — 7 WV IMAEBIRR Y 72 0 e 151 | [/ 1%y
kRO — 7wﬁﬁlmﬁt©% %(%ﬁé) 97,747 | M/ km
kR — 7 VAER 1 kn 7= 0 SRR (HFHR) 92,191 | M, km
kSR — 7 VEER 1 km Y72 0 sk R CaTIR) 95,459 | [, km
PHERE A — T VIER 1 km 472 0 R R (EIR) 100,034 | M km
FRERYE S — T VIER: 1 km 2472 0 fEak et (B IR) 94,152 | 1,/ km
kR — T VAER 1 kn 7= 0 AR (LBIR) 96,766 | M, km
PHER I — T VAERE 1 km 272 0 FERR2HE (RBR) 98,400 | F4,km
PHERE A — T VIR 1 km 472 0 R R (RIIR) 100,687 | M, km
kR — T VAER 1 km 2472 0 fiE %éﬁ(mﬁﬁ) 99,707 | ./ km
FHERIEr — T VIER 1 km 2472 0 SRR (BER ) 98,400 | 1, km
¢%%%ﬁﬁjwﬁﬁlm%tbm&%$§(%Eﬁ) 105,262 | M km
PHERE A — T VIR 1 km 472 0 MR (TIER) 105,916 | M km
PR — T VIER 1 km Y7 0 Mg R 2T RAUED) 112,778 | M km
PRER 7 — T NVAER 1 km Y472 0 fEaR iRt (RpZR)1IR) 106,243 | M km
FHERIEr — T VIER 1 km 2472 0 Rk R (BB 98,400 | M, km
FHERE S — T VIER 1 km Y72 0 Mg R (B 101,995 | M km
PHERE A — T VIER 1 km Y472 0 R R (R 102,321 | M, km
Pk RIE A — T VIER 1 kn %72 0 SRR (GRHIR) 93,825 | M. km
PHERE A — T VIR 1 km Y72 0 MR (LELER) 104,609 | M km
PR — T VIR 1 km 2472 0 fEak et (REFIR) 100,034 | M, km
kR — T VIER: 1 km 2472 D 7 %é%(ﬁ%%) 100,034 | M, km
PR — T VIER 1 km 2472 0 fEakfr ety (R IR 103,955 | M km
kR — T VIER: 1 km 2472 0 fEF %é%(ﬁﬂ%) 100,361 | M, km
FHERE S — T VIER 1 km Y72 0 sk R (ZER) 100,687 | M, km
kR — T VHER 1 km 272 0 fii %é%(h%%) 97,747 | M./ km
kR — T VRER: 1 km 272 D Rk %é% (RUERAT) 96,113 | M, km
FRERYE T — T VIER 1 km 2472 0 fEak et CRBRM) 99,054 | 1, km
kR — T VHER 1 km 272 0 fiiE %é%(ﬁﬁ%) 95,132 | [, km
kRS — T IVIER 1 km %472 0 fisk R 28 (KRR 97,747 | 1,/ km

MARNr — T IVIER: 1 km 472 0 ki et (RRER) 26,712 | M km
MAZN — T NVAER 1 km Y72 D fiw %é% REARIR) 26,430 | M, km
MAFRINr — T VIER: 1 km 2472 0 fEa% R4 %(kﬁﬁ) 26,618 | M km
MA%%b—iwﬁE1m%tDm%“£% B IR 26,242 | M, km
IMARNr — T NVAER 1 km Y72 0 Mgk et (ISR 26,712 | M km
IMAZNA — T WVIEE 1 km 2472 V) ik i% (VPRI 24,737 | M km
AR — T NI RIRRY 7= 0 fisk k42 172 | M./ 1El#3
PR — 7 VIER: 1 km 2472 0 iz (re g (dbinE) 104,246 | M, km
HkRIEr — 7 VRER 1 km 2472 0 Risk R 28 (FHRR) 98,250 | M, km
PR — 7 VIER: 1 km Y72 0 ik (ke CHTIR) 101,777 | M km
PR — 7 VIER: 1 km 2472 0 MR 2 g (EIRIR) 106,362 | M, km
kRIS — T VIER 1 km 272 D fiig %QE(MHE) 100,366 | M, km
PR — 7 VIER: 1 km Y472 0 iR 2 (LUTRR) 103,188 | M km
kRIS — T VIER 1 km 272 D fiig %é%(ﬁ%@) 104,951 | M km
HkRIEr — T VRER 1 km 272 0 Rk 2 RIRI) 108,125 | M, km
PR — 7 VIER: 1 km Y72 0 iR BHEARR) 107,067 | M, km
PR — 7 VIER: 1 km Y472 0 fisR (R 2t FEEIR) 105,656 | M, km
kR — T VIR 1 km 272 0 fERE Rt (B ER) 113,063 | M km
PR — 7 VIER 1 km Y72 0 iR et (TIER) 113,769 | M, km
kR — T VIR 1 km 272 0 fERE A2 (BRTER) 121,175 | M km
kRN — T VIER 1 km 272 0 fgkfr ety (aR)11R) 114,121 | M km
PR — 7 VIER: 1 km 2472 0 iR R 2 (FHER) 104,951 | M, km
kR — T VIR 1 km 272 0 fERk A2t (B ILR) 108,831 | M, km
PR — 7 VIER: 1 km Y472 0 R R 2 (A1) 109, 183 | M, km
PRI — T VAR 1 km 272 0 MR R GEIFIR) 98,250 | 1, km
kR — T VRER 1 km 2472 0 R R 22 (LELIR) 112,358 | M. km
PR — 7 VIER: 1 km Y72 0 iR ke (REFIR) 107,420 | M km
HPHERIEr — T LRER 1 km 2472 0 fig 22 (R RIR) 105,304 | M, km
ENKﬁ%b‘tﬁ»ﬁEﬂkm%knmf“ A (Fli IR) 109,536 | M, km
PRERIE T — 7 VIER 1 km Y72 0 sk R (ﬁ%ﬂﬂar) 105,656 | M, km
PR — T NVIER 1 km Y72 0 skt et (ZEHR) 106,009 | M, km
PR — T NVIER 1 km 472 D fiigk %(ﬂ ) 102,482 | M./km
kR — 7 VRER 1 km 272 D) HiE %é% (58:19/57) 100,719 | M./km
PR — T NVIER: 1 km Y472 0 skt (RIUT) 103,540 | M, km
*%%%&~fwﬁ§1m%t@mﬁ%é§(Eﬁ#) 99,661 | M km
kR — T VIER: 1 km 272 0 fEsk et (RRIF) 102,482 | M, km

+RI



PHERIE A — T VIER 1 km 2472 0 R iR AR (FngkiLis) 98,073 | M, km
FHERE A — T VIR 1 km Y72 0 MR (SR 91,211 | M, km
FRERYE S — T VIER: 1 km 2472 0 fEakfr et (BRI 91,211 | M km
FHEREr — T VIR 1 km Y72 0 fisR R (W) 93,172 | M km
kRN — T VIER 1 km 2472 D fii g %L%(K%%) 95,132 | M km
FRERG S — 7 NVIEER 1 km 472 0 sk e (L nR) 93,825 | M, km
kR — T VAER 1 km 2472 0 fiF %L%(%%%) 93,825 | [, km
PRI — 7 VIER 1 km H72 0 fisk R e2® (F)IIR) 95,132 | M, km
FHkRIE S — T VHER 1 km 2472 0 Rk R 28 (BRI 92,191 | 1,/ km
PHERE S — T VIER 1 km 24 7= 0 faik et (B 92,191 | 1, km
PHERE A — T VIER 1 km 472 0 R R (R ) 98,073 | I, km
PHERL A — 7 VIER 1 km 472 0 R R (EE ) 96,766 | [, km
FHkRIEr — T VIER 1 kn 472 0 Rk R 28 (RIRI) 93,825 | 1,/ km
PHERL A — T VIER 1 km 472 0 R R T (REAIR) 92,845 | [,/ km
FHkRIE S — T VIER 1 kn 2472 0 Rk REE (R 93,498 | 1,/ km
kSR — 7 VEER 1 km 2472 0 i %é%(ﬁ%%) 91,865 | [, km
PHERN A — T NVIER 1 km Y72 0 i iRe (BIREER) 93,825 | M, km
kRS — 7»@E1m%tbm§%‘ﬁ(Wﬁﬁ) 85,656 | [, km
W7 — 7 VIER 1 km Y72 0 gk et (L) 277,012 | F, kn
WSS — 7wiﬁlmét@Mm% 24y (FARR) 260, 998 | M, km
WSS — 7wkﬁlm%t@m&%~ﬁ(%$ﬁ) 270,418 | M,/ km
W — 7 VIER: 1 km 2472 0 figRReE (EIRIE) 283,605 | M,/ km
WSS — 7wiﬁlmét@Mm% >4y (BRI IR) 266, 650 | M, km
HEIESE 7 — 7 VEER: 1 km 272 0 fiisd 22 (LWER) 274,186 | M, km
WSS — 7wiﬁlmét@Mm% 24y (R IR) 278,896 | M, km
UG — 7 VEER: 1 km 272 0 fiisR 22 GRRR) 285, 489 | M, km
W — 7 VAR R 1 km 472 0 fisk et (iR 282,664 | M, km
@E%&—fw@ﬁlM%t@ﬁﬁ%é%(ﬁ%%) 278,896 | F,km
WHE Y — 7 VIER: 1 km S7- 0 fagk R (B ER) 298,677 | . kmn
W — 7 NVIER 1 km Y72 0 Mgk R agr (THER) 300, 561 | F,/km
WHE Y — 7 VIER: 1 km 472 0 Mgk R CGREHD) 320,342 | M km
HEIEESEr — 7 VIER: 1 km 2472 0 Rk 22 (23111 301,503 | M, km
W — 7 VAR 1 km Y72 0 fid %é%(%ﬁﬁ) 278,896 | M,/ km
W — 7 VAR R 1 km 472 0 fisk et (LR 289, 257 | M,/ km
HRIESG 7 — 7 VIER: 1 km 272 0 fiisR 22 (0)I15) 290,199 | F,km
WY — 7 VIER: 1 km 247- 0 T et (IR 265, 708 | M, km

PHERE 7 — 7 VIER 1 km Y72 0 Mgk 2R kil ) 102,835 | M, km
kR — T VAR 1 km Y7 0 faiR R e (SEUR) 94,370 | 1,/ km
kRIS — 7wkﬁ1mékbﬁu%A%(%m%) 94,017 | 1,/ km
kR — ZVIER 1k 2472 Y Rig Ry (L) 98,250 | M1 km
¢%%%&~fwﬁ§1m%ﬁom%%ﬁ%(f%@) 97,897 | 11,/ km
kR — 7 VIER 1 kn 272 Y R R (LA 97,897 | M1 km
Pk RIE S — T LIER 1k 2472 0 figR ARt (EEIR) 99,661 | 1, km
PR — 7 VIER 1 km 2472 0 iR (R 2 (FIR) 101,071 | M, km
HkRIEr — T VRER 1 km 272 0 B2 (BmRIR) 97,897 | M, km
ik RIE A — 7 LRER 1k 2472 0 R 22 (EmIR) 97,897 | 11,/ km
PR — 7 VIER: 1 km 2472 0 Mg (R 2 g (R R) 103,893 | M km
kRIS — T VIER 1 km 272 D fiig %é%(%ﬁﬁ) 102,482 | M, km
FHERE 7 — 7 VIER 1 km Y72 0 gkt et (RIFR) 99,308 | M km
kR — 7 VRER 1 km 272 D) i %é%(%Aﬁ) 98,250 | 1, km
HkRIEr — T VRER 1 km 2472 0 Rk R 2 (RO IR) 98,955 | M, km
Pk RIE A — T LRER 1k 2472 0 RiiR AR 22 (R IR) 97,544 | 11,/ km
PRI — T VIER 1 km 272 0 fiak et (VSR 99,308 | M, km
PRI — T VAR 1 km 272 0 MR R (IR 91,901 | 1/ km
R — 7 VIER 1 km Y72 0 sk it (ki) 280,961 | M, km
WENr — 7 NVAER 1 km Y472 0 fisk et (FARR) 264,514 | M,/ km
WENr — 7 NVAER 1 km Y472 0 sk fhet (HTR) 274,189 | M,/ km
R — 7 VIER: 1 km 472 0 sk R (EhR) 286, 766 | M, km
WENr — 7 NVAER 1 km Y472 0 sk it (BKEIR) 270,319 | M,/ km
R — 7 VIER: 1 km 472 0 sk ke (LBR) 278,059 | M, km
WENr — 7 NVAER 1 km Y72 0 sk fhet (EER) 282,896 | M, km
R — 7 VIER 1 km Y72 0 sk R (RKIR) 291,604 | M, km
MRS — 7 WVIER: 1 km 2472 0 fEgk Rt (HiAR) 288,701 | M, km
R — 7 VIER 1 km Y72 0 sk R (BEBIR) 284,831 | 1,/ km
MRS — 7 WVIER 1 km 472 0 fEgk Rt (B ER) 305,149 | M. km
MR — 7 VIER 1 km Y72 0 sk R (TIER) 307,084 | 1],/ km
MRS — 7 WVIER: 1 km 2472 0 fEagk PRt CRRLHER) 327,401 | M,/ km
IS — 7 VIER 1 km 472 0 fiaR Rt (AhZ3)1[I%) 308,051 | [,/ km
WIS r— 7 VIER 1 km 2472 0 fitgg %éﬁ(%ﬁ%) 282,896 | I, km
WSS 7 — 7 VAL 1 km 2472 ¥ Sk R 4% (ELIR) 293,539 | 11,/ km
ﬁE%&~fwﬁ§1m%k@%ﬂ%é§(EM#) 294,506 | M, km
HEEY 7 — 7 VIER: 1 km 24 7= 0 s e (FEFHR) 264,514 | M, km

1



WS — 7 NVHER 1 km 272 0 fisR R (LFLR) 296,793 | M,/ km
WIS — 7»Lﬁlmétbﬁ %éﬁ(ﬁﬁﬁ) 283,605 | M,/ km
WS — 7 NVHER 1 km 272 0 SRR A2 (B IR) 283,605 | M1,/ km
ﬁE%#—fwﬁﬁlm%tbm%%é%(%%ﬁ) 294,909 | I,/ km
W — 7 NVIER 1 km Y72 0 Mgk (ZmiR) 284,547 | M,/ km
WEEE 7 — 7 VAR R 1 km 472 0 fisk e (ZER) 285,489 | 4, kn
W — 7 NVIER 1 km Y72 0 Mgk iR (A R) 277,012 | 1,/ km
MR — 7 NVAER 1 km 472 0 sk e (RUET) 272,302 | M,/ kn
WY — T VIER: 1 km 72 V) fEgk R CORBRF) 280, 780 | M,/ km
W — 7 VAR 1 km 472 0 fisk et (FER) 269,476 | M, km
W7 — 7 NVAER 1 km 472 0 sk e (KRR 277,012 | M,/ kn
RS — 7 VIER: 1 km 2472 0 fEak et (Foikilig) 277,954 | M,/ km
MR 7 — 7 NVAER 1 km 472 0 sk fre® (BEUR) 258,172 | M, km
W — 7 VAR 1 km 472 0 fisk et (SR 258, 172 | M,/ km
WEIESE 7 — T NVAER 1 km 2472 0 fk e (i LIR) 263,824 | M, km
WHE Y — 7 VIER: 1 km 2472 V) fii g %@%(E%ﬁ) 269,476 | M, km
W7 — 7 VIER 1 km Y72 0 gk fraege (LaR) 265,708 | 4,k
WSS — 7wiﬁlmét@Mm% 2y (T IR) 265, 708 | M, km
W7 — 7 VIER 1 km 472 0 gk frete (FIIR) 269,476 | M, km
WSS — 7wiﬁlmét@Mm% 2y (BERIR) 260, 998 | M, km
WSS — 7wkﬁlm%t@m&%~ﬁ(%mﬁ) 260, 998 | M, km
W7 — 7 VIR 1 km 472 0 gk frage (i I5R) 277,954 | M, km
WY — 7wiﬁlmét@Mm% > (R IR) 274,186 | M, km
WIS — 7 VIER 1 km 472 0 fisk R 2t (RIGR) 265,708 | M,/ km
WSS — 7wiﬁlmét@Mm% 24y (REARIR) 262,882 | M, km
UG — 7 VIER: 1 km 272 0 fiisR 22 (Ko R) 264,766 | M, km
W — 7 VAR R 1 km 472 0 fisk et (CEIRR) 260, 056 | M, km
@E%&—fw@ﬁ1m%tomﬁ%é%(@ﬁ%%) 265, 708 | F,km
WHE Y — 7 VIER: 1 km 2472 V) fagk R4 (FRHRIR) 242,159 | M,/ km
BHIER 1 km Y72 0 fisk R 53,301 | M, km
PORERER 1 kn Y4720 it e® 53,301 | M, km
EHBEHE 1km Y720 fugk et 53,301 | M, km
HFEER 1k H72 0 sk R 22 53,301 | M, km
HIGAE IRIER 1 km 247 Y i e 53,301 | 1 km
AL RN R 1 km 2472 0 Mk (Rt 53,301 | [,/ knm
T AR AR PR R A b =R 0. 03999

RIS — 7 VIER 1 km Y72 0 fisk R (LFLR) 303,214 | M. km
RIS — 7 VIER 1 km 472 0 s (R 2T (RFR) 289,669 | M. km
WENr — 7 VAR 1 km Y72 0 fiisk et (G RIR) 283,864 | M. km
RIS — 7 VIER 1 km 2472 0 fitiF %é%(%ﬁﬁ) 295,474 | M. km
R — 7 VIER: 1 km 2472 0 fEgk R 2 (B HR) 284,831 | M. km
RIS 7 — 7 VIER 1 km 2472 0 fitig %é%(ziﬁ) 285,799 | M. km
R — 7 VIER: 1 km 2472 0 fEgk R g (R R) 276,124 | M, km
R — 7 VAR 1 km 472 0 sk ke U 271,287 | M./ km
R — 7 VAR 1 km 472 0 sk ke (R 279,026 | M. km
WEGr — 7 NVAER 1 km Y72 0 sk et (RER) 268,384 | M, km
WG — 7 VAR 1 km 472 0 sk ke (RER) 276,124 | M. km
R — 7 VIER: 1 km 2472 0 fEakfr gy CRoskiliR) 277,091 | M,/ km
R — 7 VAR 1 km 472 0 sk ke (BEUR) 253,872 | M. km
WHEE S — 7 WVIER 1 km 2472 0 fask (R 28 (BIRE) 252,904 | M,/ km
R — 7 VAR 1 km 472 0 sk i (L IR) 264,514 | M. km
WEGr — 7 NVAER 1 km Y472 0 sk et (RBR) 263, 547 | M,/ km
R — 7 VIER: 1 km 472 0 sk R (L) 263,547 | M. km
WIS 77— 7 VIER 1 km 2472 0 sk R 2T (FES1R) 268, 384 | M,/ km
R — 7 VIER 1 km 472 0 sk ke (&R 272,254 | M. km
WENr — 7 NVAER 1 km Y472 0 fisk et (ZiRIR) 263, 547 | M,/ km
WENr — 7 NVAER: 1 km Y472 0 fisk et (@A) 263, 547 | M,/ km
R — 7 VAER 1 km Y72 0 fipk iR (FEIR) 279,994 | M, km
WENr — 7 NVAER 1 km Y72 0 fiskfhaety (RAR) 276,124 | M,/ km
WSS — 7 VAER 1 km 472 0 fisR R (RIFIR) 267,417 | [,/ km
WENr — 7 NVAER 1 km Y472 0 sk fhaet (REAIR) 264,514 | M,/ km
ﬁ@%&—fw@ﬁlm%kwmﬁﬁé%(k 1) 266,449 | [, km
MRS — 7 WIER 1 km 2472 0 SEgk PRt (Rl iR) 262,579 | M, km
R — 7 VAR 1 km Y72 0 figk e (EIREER) 267,417 | 1,/ km
WEENr — 7 NVAER: 1 km Y472 0 fisk et (hfRIR) 247,099 | M,/ km
BHIEE 1 km Y72 0 gk (R 54,778 | M km
PFOREREER 1 kn Y4729 iR 54,778 | M,/ km
EOWEER 1 kn Y72 Y iRt 54,778 | M km
HFEIEER 1 km 472 0 fig %é% 54,778 | M/ km
HIGAE KIER 1 km 2472 9 gk et 54,778 | 1,/ km
%ﬁ#ﬁ%ﬁﬁ1m%k@mﬂ%é§ 54,778 | M./ km
T R O B AR bR 0. 04400

P41 i



T = S W i R P e kP B A P R 0. 01606 —
BEARRRE (RAEEM) Mgkt &g 0.1592 —
BEOLRRlN (DU RaR A ) ek P ek i A L = 0. 04730 —
(%

BEARRR0E (TTIOMRRIE) THAMRISIER 1 km Y72 Y sk R 25 3,828 | M km
BEaR il (TPAREE) THNRUIER 1 km 2720 sk R 28 1,168 | M km
BEARRR0N (Rt MR b) il g o B AR L SR 0. 02624 —
S0 W il s PR A 2 o B A LR 0. 01606 —
(1% ]

L AR PR A o e AR LR 0. 03804 —
THE . R R OV i it 5% P A kT e A L R 0. 002741 —
(A% ]

HHINEN—F V7 b7 = T i iR B RS s R 0. 1727 —
EHaTN—2Y T =T R G R R 0. 1650 —
(1% ]

A 1 AN - 0 ER S AR 313 | /K
B 1 km Y4720 SEEE S AR 33,192 | M km
PO 1 km 2472 0 ER SRR 333,037 | M,/ km
L 9IE 1 km M7 0 IEE S AR 738,114 | M,/ kn
EHAR > 7 A Lkm Y72 Y BB S Ak 3,885 | M km
BIRME RS 1 km 24 7= 0 B S5 AR 3,885 | M, km
EARIEEITE 1 km Y72 0 TEHE S AR 3,885 | M km
T MR RIS 0 E RS AR 65 | M/ &
B R A R 25 e e B A L =R 0. 003127 —
AR SIS 2 A xHE B R L R 0. 005530 —
7 PN AR A8 2% P ok P A L R 0. 002433 —
TR S e A R AR 0.001107 —
TR A T P B LR 0. 003284 —
RS PR R L R 0. 003556 —
I B OVEE i 2 e P Sk e i A b o 0. 001010 —
L A2 A o R A R 0. 0001237 —
THE. #n B K O s S B A i =R 0. 0009387 —
TRBRF T2 kB R 0. 02902 —
(R

BRI 0. 1157 —

H o it i PR e kB AR b R 0. 01668 —
Btlakll (R Haatfh gt g 0.1511 —
BERLRRAN (DA %) Mak PR B A L =2 0. 04654 —
[lA14]

AN (TTAMRIR) TIAMRIKIER 1 km Y72 Jagk R} 3,885 | M1,/ km
BEthaRin (THPARER) THPRIER 1 km 272 0 fis R 28 1,183 | M, km
AN (R AR it B O A Sk P AR L R 0. 02930 —
I3 R AL R PR A o B A LR 0. 01668 —
(R Z]

B it i PR 4 B R B AR AL R 0. 03850 —
TH | 5B K O &b i i fr A e i b SR 0. 002604 —
[ 72]

HHIEN—F YV 7 b7 = T Risk 2 G Mt 0. 1644 —
WHa T A—& YT Y T iR T S S R 0. 1522 —
(R Z]

B 1AM 0 ER S AR 298 | M/ &
B 1 km Y72 0 GERE &5 AR 32,626 | Fkm
AR 1 km 472 0 TE B S R 326,385 | M, km
&9 1 km 72 0 AR 5 AR 686,949 | M, km
AR Y 7 A 1km Y47- 0 B S5k 3,616 | M, km
BRI 1 km 272 0 SER S5 AR 3,616 | M. km
AR FTE 1 km 272 0 B 5 Ak 3,616 | M km
EHREIBINALEE 1 57 0 B Sk 59 | M/ &
B A R 25 e e b =R 0. 002788 —
AR S 2 F e 4 A b 0. 006460 —
7PN IS 2 PR e R G A L R 0. 002244 —
AR A A F xR A b R 0. 0009821 —
AR A o P AR bR 0. 002567 —
TEELA I 2 PR R e b R 0. 003916 —
P e OVEE 8 5 2 T R R LR 0. 0005163 —
A S A o P A b 0 —
THE., ZRBE RO AR DR G 0. 0003993 —
PRI 70k B e R 0. 02805 —
(A1 42]

R E R R 0.1037 —

RENl



TR T FH A &5 T FH A 4
ST 29| & Tt 3.9
(%] (2]
BRIG X LI —T L 32.8 F LRIG XA b —T 31.9 1E
HFRAZNVr—T )L 42.0 4 T AZNVr—T )L 41.2 4
[#%] [l 4]
ERE F H 63.0 F
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